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Câu 1 (1,5đ): Thiếu cân bằng -1/2 số điểm
0,25đ × 6 pt = 1,5đ
    
Câu 2 (1,5đ):
0,5đ × 3 chất = 1,5đ

Câu 3 (2đ):

0,5đ × 4 pt = 2đ
    
Câu 4 (1,5đ):  	


H3PO4 + 2NaOH Na2HPO4 + 2 H2O          1đ
0,3	    0,6

mNaOH = 24g -> mddNaOH = 75g			 0,5đ


Câu 5 (2,5đ): 
a. 2 pt 				                     0,5đ
b. Hệ pt


   (0,5đ )                           (0,5đ)

%mCu = 63,16%; %mFe= 36,84%				0,5đ
c. mmuối = 10,48 gam					          0,5đ

Câu 6: (1đ)
Học sinh làm cách nào cũng được, miễn là đúng logic và đúng đáp số là cho đủ số điểm.
nNO2 =0,2 mol                       0,5 đ
nO2 = 0,05 mol                       0,5 đ
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